PHS/POSE! B NHS/NOSZE!

(fm4ahEL)

ol

WN’

I

po- By
B
L T T
L 1-
fo= 4 Sret
s
b w
N B T E R T mm ) %Eg ﬁgﬁg
_@@ §g;! il s |p| e Bl ¢ | Lyt LifLz) W02 03| nf?ﬁﬁ) (@) | wxwm | (EH)
IS 2% £0.1[—1 -2 %03 kg Kg
PHS 5 |165| 5| M5%08 6] 6 |8|77 /35| 4 |27/ 9 | e | n oa|ni2re | 570 |NHS 5T 400
PHS 6 |25 |6 Mex1 (186759 | o 30| 5 [30|1| 11 | 10| 1 [03|2709 700 | NHS 6T| 5%
" PHS 8 | 43 | 8| M8x125 22| 9 |12|w04|47| 5 36|17 1 |125] 16 |05/15875(s5) | 1000 |NHS BT{ 860
PHS 10 | 72 | 10| M10X15 |26/ 10.5 | 14| 12.9| 56 |65]43|21] 17 | 15| 19 |0.5]19.05(¢: ) 1350 | NHS 10T | 1200
PHS 12 | 107 |12 |M2x175|30| 12 |16|15.4| 65 [65{50 (24| 19 |17.5) 22 [05|22.225(7s) | 1700 |NHS 12T | 1600
PHS 14 | 160 | 14| M14x2 |34| 1355 19| 16|74 | 8 |57[27] 22 |20 25 {0.7|25.4(1) 2100 | NHS 14T | 2060
PHS 16 | 210 [ 16| Mi6x2 )38 15 [21]10.4|83| 8 |64(33| 22 | 22| 27 |07|28.575(15) | 2550 | NHS 16T | 2570
PHS 18 | 295] 1 | Mi8x15 {42] 16.5 |23]219| 92| 10 [71(36] 27 [ 25| 31 [07]3175(r+) | 3000 |NHS 18T| 3140
PHS 20 | 38020 | M2ox 15 |46| 18 [25124.4{100| 10 |77 |40} 30 |27.5 34 [0.7|84.925(1 %) | 3500 |nHS 20T 3770
PHS 22 | 490 | 22| M22x15 |60| 20 |2825.8| 1009 12 |84|43| 32 | 30 | 37 |0.7{38.1(12) 4200 | NHS 22T 4570
PHS 25 | 750 |25| M24x2 [60| 22 |31|20.6]124] 12 |94|48| 36 {33.5) 42 |0.8}a2.862(11 5)| 7400
PHS 30 |1130{30| M30x2 |70 25 |37|34.8} 15| 15 [110|56| 41 | 40| 50 |0.8]50.8(2) 9400
T ® R I mm BRE BRE
;i}ﬁ Eg;g d| s |p| B %’ a1 | L {LifLe| r miﬁiﬁ%) ?%fl) BEEER %‘%f])
Js2f | | x0a] Y, Ko ko
POS 5 | 12515} M5X08 [ 16| 6.0 8 | 7.7 41133{20|0.3]|11.112(7/16) 350 |NOS 5T| 400
POS 6 18 | 6] MBX1 |18}6.75 9 9.0 | 45 (36|22} 0.3 |12.7(v2) 500 |NOS 6T| 510
POS 8 32 { 8| M8X125]22| 9 12 | 10.4| 53 |42]25| 0.5]15.875(58) 700 | NOS 8T| 860
POS 10 54 |10} M10X15 (26| 10.5 | 14 |12.9]| 61|48|29|0.5{19.05(s/4) 1100 |NOS 10T | 1200
POS 12 85 | 12|M12X1.75/30} 12 16 |15.4| 69 {54|33| 0.7 [22.225(7/8) 1700 |NOS 12T | 1600
POS 14 126 [ 14| M14X2 [34| 135 | 19 |16.9| 77 |60|36! 0.7 [25.4(1) 2100 | NOS 14T | 2060
POS 16 185 | 16] M16X2 38| 15 21 11941 85 |66{40| 0.7 | 28.575(1v8) 2550 | NOS 16T | 2570
POS 18 | 260 | 18| M18X15 (42| 16.5 | 23 [219] 93 |72|44| 0.7 |31.75(1v4) 3000 | NOS 18T 3140
POS 20 | 340 (20| M20X15|46| 18 25 (24.4]101|78147]0.7 {34.925(138) 3500 {NOS 20T| 3770
POS 22 | 435 (22| M22X 15|50 20 28 125.8]109[84| 51| 0.7 {38.1(1v2) 4200 |NOS 22T 4570
POS 25 | 650 |25] M24X2 |60 22 31 [29.6|124|94{57| 0.8 |42.862(11ve) | 7400
POS 30 | 1070 (30| M30X2 )70] 25 37 {34.8|145|110/66| 0.8 {50.8(2) 9400

160




po—di

S -

N

[
6O e d =t
—
£2
i
¥
% & m
B | e 9IS 24k D L L L L D, 0 D,
S ~03
RBL 5D 24 M 5x0.8 9 35 27 4 14 11 9 16
RBL 6D 37 M 6x1 10 40 30 5 14 13 11 19
RBL 8D 67 M 8x1.25 125 48 36 5 17 16 14 23
RBL 10D 110 M10x1.25
15 57 43 6.5 21 19 17 27
RBL10BD| 113 | MI0xl5
RBL 12D 165 M12x1.25
17.5 66 50 6.5 25 22 19 31
RBL 12BD 170 M12x1.75
RBL 14D 255 M14x1.5
20 75 | 57 8 2 2 2 35
RBL 14BD 260 M14x2
RBL 16D 335 M16x1.5
22 84 64 8 32 27 22 39
RBL 16BD 340 Ml6x2
RBL 18D 465 M18x1.5 25 93 71 10 34 31 27 44
RBL20D | 540 | M20x15 | 275 9 | 77 | 10 35 34 30 a4
RBL 22D 715 M22x1.5 30 109 84 12 41 37 32 50
B :mm
W @ ) REX B R |
g ¢ ‘ : ‘ 4 0 ¢ & |[fEgm| ek | %
h9 +03 —0.3 o Kaf Cs
: g kgt
5 | 29 21 | 10 8 9 7 1112 | 20 | s0° 230 | 940
6 | 355 | 2 | 11 11 10 8 | 127 20 | 50 360 | 1230
8 425 31 14 12 12 10 15.875 24 50° 670 1950
505 | 37 15
10 17 14 11 1905 | 30 | s | 1000 | 2810
565 | 43 21
575 | 42 17
12 19 19 17 | 22225] 32 | 500 | 1670 | 3820
665 | 49 24
735 | 56 22
14 — 215 19 17 25.4 38 50° 2020 4990
795 | 62 28
79.5 60 23
16 235 22 19 | 254 s | 400 | 2740 | 490
855 | 66 29
18 | % 68 | 265 | 25 23 20 | 28575 45 | 400 | 3400 | 6310
20 | 9% &8 | 27 25 29 24 | 28575 | 50 | 40° | 4680 | 6310
2 | 9% 70 | 28 26 27 24 | 3175 | 52 | 32 | 4%00 | 76%

161



/ ! 1
0 - o4 p,>PK
[ | L
(.
|
e |
dd s { s we
it T
| -
=
pom fomet e £y ey e L]
& Lt
[N - — L -
w
4 w ER | som D L L L. L D, 0 D
grt S -0.3
RBI 5 25 | M 5x08 9 46 24 4 12 1 9 17
RBI 6 4 | Me6x 10 552 | 28 5 15 13 11 20
RBI 8 75 | M8x125 | 125 | 65 32 5 16 16 14 2
RBI 10 120 M10x1.25 74.5
15 35 6.5 18 19 17 28
RBI10B | 123 | MI10xl5 80.5
RBI 12 185 M12x1.25 84
17.5 40 6.5 20 22 19 32
RBI12B | 190 | MI2x175 91
RBI 14 275 | MI14x15 103
20 a5 8 25 25 22 36
RBI14B | 280 | Mldx2 109
RBI 16 360 [ MI6x15 112
22 50 8 27 27 22 40
RBI16B | 370 | MI6x2 118
RBI 18 535 | MI8xl5 25 1305 | 58 10 32 31 27 45
RBI 20 570 | M20x15 275 | 133 63 10 38 34 30 45
RBI 22 755 | M22x15 30 145 70 12 43 37 32 50
o ¢ w #owlanmpy| BREEER
d £ o3 ¢ d 0 & | fERIm | pk O %
h9 - -0.3 ¢ kgf xef kgf
5 22 11 8 9 7 0 | 30° 290 580 1160
6 272 12.2 11 10 8 20 | 30 380 760 1520
8 3 16 12 12 10 2 | 30 600 1190 2370
395 15
10 195 14 11 0 | 3 860 1710 3420
455 21
44 17
12 21 19 17 2 | 0 1160 2330 4650
51 24
58 22
14 235 19 17 B | 22 1520 3040 6080
64 28
62 23
16 255 22 19 a4 | 2 1520 3040 6080
68 29
18 725 31 25 23 20 as | 22 1930 3850 7690
20 70 29 25 29 24 50 | 15 1930 3850 7690
22 75 3 2 27 2 52 | 15 2400 4750 9500

162



b Lo fe— ¢ —]

H $
I!) 1 il 3
r
PK
k= -3 <t #  mm @5 ey | FRAFEE
B LA s 1 T VR A GO P D O ) D| 8 A ﬁpkg ?%“ ‘Cﬁ”?‘]
S sa
grf NS 2B | h9 ' i+03 ! () gl zo1| | e ket | kgt | Kef
ABS 5 14 M58 | 5|275019 | 8 | 8] 9{ 7] 1L.112(%) |16] 6 |05|50° | 210 | 640| 240
ABS 6 20 | M 6xl 6335|2381 88{11{10] 8] 127 (%) [18| 675| 05| 50° | 330 | 83| 310
ABS 8 40 | M8x1.25 | 8|41 |286]116]12]12110] 15875(%) |22| 9 | 05|50 | 590 | 1450 | 600
ABS 10 68 | MI0x1.25 49 | 342 15
10 12 a1 1905 (3¢) | 26| 105 | 05| 50" | 940 | 2050 850
ABS10B | 70 | MIOx15 55 | 402 21
ABS 12 | 106 | MI12x1.25 55.1 | 38.1 17
12 151 b—4 19 17| 22225(%) 30|12 |05 s0° | 1440 | 2790 | 1140
ABS 12B | 110 | M12x175 621 | 451 24
ABS 14 | 165 | MI14xL5 707 | 513 22
14 168 —19|17| 254 (11 |34] 135 | 05| 40° | 2020 | 3650 | 1470
ABS 14B | 17q | Ml4x2 767 | 573 28
ABS 16 | 236 | MI6x15 763 | 545 23
16 18 b—{22]19| 285750%)|38| 15 |05 40° | 2740 | 4600 | 1850
ABS 16B | 240 | M16x2 823 | 60.5 29

Ba Ls
Sn[ 4, \:,:+ df
| .
IR L
LB
Bz |1,
B
—_— L -t

ES ® =+ & mm @ | L =IO
ol e L1} 2
P & _ Wl Wi *
¥ ORI ER S iz E So B R v | B T [ csa
] U {Lf te]|a B8 Bi |82 83 [ ] P
grf S 24k L NS 2% ¢ kgf | 313k | MEWE
h9 -03[-03 kgt k
4 kgl | kgf
TBS 6 30 M 6xl1 6 32 (22715122111 ]10 M20x1 5 115] 8 2 7 127 17 8 | 30" 250 1400 | 5001 1220
TBS 8 50 M 8x1.25 8 j415127 17 | 16 12 (12 M22x1 5 145 | 11 2 851 15875 | 19 10 | 30° 530 2510 | 106C | 1800
TBS 10} 80 M10x1 5 10 555 1385125119521} 14 M25x1 5 17 13512110 19.05 22 11 {307 740 3340 | 1470 § 2550
TBS 12 130 M12x1 79 12 |64 44 30422 24119 M30x1 5 20 1551 3 |12 20225 27 17 | 30° 940 4430 | 1870 | 3570

163



B
fre—— B —
‘ -T—hH r!
 — R
. ¢ ‘_‘[
: !
b t @
S r
T E R < mm EATIRTE
2 B|== . 5, N R B B I Co
grf | d o | S| 5. kgt kgt
SB 12 19 12| 2 9 11 14 18| 15| 05| 300 9720
SB 15 8| 15 | 2 11 13 175 | 22| 25| 05| 580 | 14500
SB 20 53] 20 | 3 14 16 23 281 25| 05| 940 | 23500
sB 22 85| 22 | 37 16 19 255 | 32| 25|05 | 1230 | 30700
sB 25 | 16| 25 | 42 18 21 29 3| 4 |05 150 | 38900
SB 30 | 225| 30 | 50 23 27 36 5] 4 |1 2480 | 62100
SB 35 | 30| 35 | &5 2% 30 40 so0| 4 |1 3120 | 78000
SB 40 | 35| 40 | 62 28 3 4 55| 4 |1 3700 | 92400
SB 45 | 600 45 | 72 31 36 505 | 62| 6 |1 4610 | 115000
$8 50 | 870| 50 | 80 3% ) 585 | 72| 6 |1 6220 | 156000
SB 55 | 1260| 55 | 90 40 47 645 | 80| 6 |1 7680 | 192000
SB 60 | 1700| 60 | 100 45 53 725 | 90| 6 |1 9720 | 243000
SB 65 | 2050 65 | 105 47 55 76 9 | 6 |1 | 10600 | 265000
SB 70 | 2220| 70 | 110 50 58 815 | 100 8 |1 | 12000 | 300000
$B 75 | 3020| 75 | 120 55 64 895 | 110 | 8 | 1 | 14500 | 363000
SB 80 | 3980 | 80 | 130 60 70 975 | 120 | 8 |1 | 17300 | 432000
SB 85 | 4200| 85 | 135 63 74 | 1005 [ 125| 8 | 1 | 18900 | 473000
SB 90 | 4710| 90 | 140 65 76 | 1055 | 130| 8 |1 | 20300 | 507000
SB 95 | 6050| 95 | 150 70 82 | 1135 | 140 | 8 | 1 | 23500 | 588000
SB100 | 7420| 100 | 160 75 88 | 1215 | 150 | 10 | 1.5 | 27000 | 675000
SB110 | 8550 | 110 | 170 80 93 | 130 | 160 | 10 | 15 | 30700 | 768000
SB115 | 10300 | 115 | 180 85 98 | 1325 | 165 | 10 | 15 | 33700 | 842000
SB120 | 12400 | 120 | 190 90 105 | 140 | 175| 10 | 15 | 37800 | 945000
SB130 | 13800 | 130 | 200 95 110 | 1485 | 185 | 10 | 1.5 | 42200 | 1050000
SB150 | 17000| 150 | 220 | 105 120 | 166 | 205| 10 | 15| 51700 | 1290000

164




I

SA1 SA1-UU
A U F E R < mm RKATEREE
maw|mom oml o S 5ol e o | | ° e
erf d | D} 015 | —015 ket | ef
SA1 12 | SAT 120U 17 12 22 7 10 15 18 0.5 300 7560
SA1 15 | SA1 15UU 32 15 26 9 12 184 22 05 480 11900
SA1 17 | SA1 17UU 49 17 30 10 14 20.7 25 0.5 600 15000
SA1 20 | SA1 20UV 65 20 35 12 16 24.2 29 05 840 20900
SA1 25 | SA1 25UU 115 25 42 16 20 29.3 355 1 05 1360 34100
SA1 30 | SA1 30UU 160 30 47 18 22 342 40.7 0.5 1760 44000
SA1 35 | SA1 35UU 258 35 55 20 25 398 47 1 2260 56400
SA1 40 | SA1 40UV 315 40 62 22 28 45 53 1 2800 70000
SA1 45| SA1 45UU 413 45 68 25 32 50.8 60 1 3600 90000
SA1 50 | SA1 50UU 560 50 75 28 35 56 66 1 4440 111Q00
SA1 60 | SA1T 60UU 1100 60 90 36 44 66.8 80 15 6910 173000
SA1 70| SA1 70UU 1540 70 105 40 49 779 92 1.5 8830 221000
SAt B8O | SA1 80UV 2290 80 120 45 55 89.4 105 1.5 | 11300 284000
i SA1 90 i SA1 90UU 2840 90 130 50 60 98.1 115 2 13800 345000
SA1 100 | SA1 100UU 4430 100 150 55 70 109.5 130 2 17200 429000
SA1 110 | SA1 110UU 4940 110 160 55 70 1212 140 2 18500 462000
SA1 120 | SA1 120UU 8120 120 180 70 85 135.6 160 2 26900 672000
SA1 140 | SA1 140UU 11300 140 210 70 Q0 155.9 180 3 30200 756000
SA1 160 | SA1 160UU 14400 160 230 80 105 170.2 | 200 3 38400 | 960000
SA1 180 | SA1 180UU 18900 180 260 80 105 199 225 3 43200 | 1080000
SAt1 200 | SA1 200UU 28100 200 290 100 130 2135 250 3 60000 | 1500000
SA1 220 | SA1 220UU 36100 220 320 100 135 239.6 275 3.5 | 66000 | 1650000
SA1 240 | SA1 240UU 40400 240 340 100 140 265.3 | 300 3.5 | 72000 | 1800000

165




PB/PBAZEY

fe—— By ——!
fe—— B; — =

PB PBA

) ¥ B R ¥ mm MRS BEHERA | HATEER

g g & | g 9+D&< 8 51 d | Hr mm(i)(u:r) a1 | az | a3 1%? igsf,?
grf d he +0.1 _o1 et ket

PB 5§ 85 5 16 6 8 7741 05 11.112 (%) 8 [ 13" | 30° 800 | 190
PB 6| 13 6 18 | 6.75 9 9 1 0.5 127 (%) 8 [13° }30° | 1000 250
PB 8| 24 8 22 9 12 10411 05 15.875 (%) 8 114" y25° | 1700 | 410
PB 10| 39 10 26 105 14 129 {12105 19.05 (34) 8 |14 | 25° | 2400 580
PB 12 | 58 12 30 12 16 1541 15|05 22.225 (%) 8 |13 |25° | 3200( 770
PB 14} 84 14 34 135 19 1659|1505 254 (1) 10° | 16" | 24" | 4100 990

PB 16 | 111 16 38 15 21 194125 | 05 28.575 (124) 9° | 15° j24° | 5100 | 1240
PB 18 | 160 18 42 16.5 23 21912505 3175 (1}4) 9° | 15° | 24° | 6300 | 1510
PB 20 | 210 20 46 18 25 1244 |25]|05 34.925 (134) 9° | 15° ) 24° | 7500 | 1820
PB 22 | 265 22 50 | 20 28 {2568]25]|05 381 (14) {100 [15° | 23" | 9000 | 2200
PB 25 (390 | 25 56 | 22 31 29613 0.5 42.862 (1%} 9° 115° | 23° | 11300 | 2660
PB 30 {610 |- 30 66 | 25 37 3483 0.5 504 (2) |10°|17° | 23° | 15100 | 3440

REHMEF B
- % FHERA = ,% ﬁﬁg
Rsp | EE | T %gﬁ . 1ICSu

gf | d | g | L9 R R kef
PBA 5 85| 5| 16 | 6 g | 7701 los| 1mi2¢g | & 13|30 800
PBA 6| 13 | 6| 18| 675 9 |9 |1 |05| 127 ¢4 | & |13 |30 1000
PBA 8| 24 | 8 | 22 | 9 12 |104]1 |o05| 15875(%) | & |14° |25 1700
PBA10| 39 | 10 | 26 | 105 | 14 |129] 12| 05| 1905 (3%) | 8 14" |25 | 2400
PBA12| 58 | 12 | 30 | 12 16 [154| 15[ 05| 22205(%) | & |13° |25 3200
PBA14| 84 | 14 | 34 | 135 | 19 [169|15|05| 254 (1) |10°|16° | 24" | 4100
PBA16|111 | 16 | 38 | 15 21 |194] 25| 05| 28575(1%) | 9 |15 | 24° 5100
PBA18|160 | 18 | 42 | 165 | 23 |219| 25| 05| 3175 (1) | 9° |15 | 24° | 6300
PBA20(210 | 20 | 46 | 18 25 |244] 25| 05| 3492503%) | 9 |15° 24" | 7500
PBA22|265 | 22 | 50 | 20 28 (258] 25| 05| 381 (1) |10° |15 |23 | 9000

166



167





